Efficiency vs dr

x 05
i<
©0.45
& 0.4
c
(0]
'50.35
=
(]

......

DOM step. -phasel-newgeom
— DQM _mkFit_step2_ tfbar -phasel-newgeom
—— DOM ang{le steé)z ttbar-phasel-newgeom
—— DQM_fast_siep2_ttbar-| phasel newgeom

1o3 1072

B

1
TP min AR

0.5

P, jet
o
. D

0.35

o
w

0.25

efﬂuency vs AR(T

o
N

0.15
0.1
0.05
1.

Ratio
N

0.95

=
o

1
w

1072 107
AR(TP, jet)

Efficiency vs pu

o
a

0.45

0.35

eff|C|ency vs PU
o
D

o
()

0.25
0.2
0.15
0.1
0.05]

.......................

1.

Ratio

.
-
-
T

%

3t

s

o

©
N
(=]

100 120 140
Pileup

N
o
ek
o
o]
o
N



	Contents
	Page 1


